EE 2240
Problem #08

The capacitor is initially uncharged when the switch is closed at =0

. Find an analytical
expression for the energy stored in the capacitor for #>0. Also use PSpice and Probe to plot the
energy stored in the capacitor for 0 <¢ <57, where 7 is the circuit time constant for ¢ > 0.

U((O) = 0O
Cor t20n

-
lo LJ'6 +

7 - s 4
o . ~0wol (3-4_ ) ¢+ rpll (U’c..3> 2O

e o © U, v+ Codl, = 8.0C
— S, + 30000 U * eO60O
" X 30000 U_(w) 60000
- N . 351 S U'c(ao)'— ZV
T ™ oot 3 MS
—30000‘:

Uty = (-2 + 2 ) V)l‘?o

w L)

)

L (L) o, (D)

"

L C - Goovot , -%ooeof
Lo Cr (ue -Be x4)

‘(.omt -3oooot

(2€ - A v 2)

),\S) tao




?f‘u\a\m ¥o08

vV 2 o ?¢ 3

R VA { lo©

6 o | 2 |\ 0ol
Re | & \oo

TRAN Tu 167w O \w utc
.PRo G&E At
€nd 5T = \elus

See +he nest (P9 ¢ Cor +he au’?d'




.Ou

% DI

0

.5u

0

Problem #08

L—1 o=t
Eol
///
/
A
/
/
//
//
17
Os 20us 40us 60us 80us 100us 120us 140us 160us 180us

o 0.5*%(le-6)*V(1)*V (1)

Time




